
1Achievers

WBCS Preliminary Exam. – Practice Set – 2
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c)
2. (a)
3. (c)
4. (b)
5. (b)
6. (c)
7. (a)
8. (c)
9. (b) Soft portion of a nut – kernel, A young cock

cockerel, One kind of hunting bird – kestrel
10. (d) Rove – !˜!”ÅÜT †hsþîÄßþiœ Šéyvþüy ‡%öìîû öîvþüy˜y
11. (a)
12. (c) Hold off – restrain SxyÝþöì„þ îûy…yV– – Hold up –

detain, Hold down – lower, Hold over –
postpone

13. (b) Went forth – issued out, Go at – attack, Go
aside – go astray, Go through – read

14. (c) Got over – managed, Get after – catch, Get
off – descend, Get about – move

15. (a) Done up – fired, Do away with – eradicate,
Do off – put off, Do with – utilize or tolerate

16. (b)
17. (d)
18. (c)
19. (a)
20. (c) Delete 'to'
21. (b) Instead of 'very', it would be 'much', very is

used with adjectives and adverbs in the positive
degree and with present participle whereas
'much' is used with adjectives and adverbs in
the comparative degree and with past participle.

22. (a) Correct would be : Rabi hung; For persons :
Present – hang, Past – hanged – Past Participle
– hanged; For things : Present – hang, Past –
hung, Past Participle – hung

23. (b)
24. (b)
25. (a)
26. (c)
27. (a)
28. (c)
29. (b)
30. (b)
31. (d)

xÄy!‰þ¦þy¢Å

32. (c) ›îû&ê ­ îöìLîû ö”î“þy– þ™‹Å̃ Ä ­ î,!ÜTîû ö”î“þy– îîû&’ ­
‹öìœîû ö”î“þy

33. (d) ~!Ýþ …y”Ä ¢‚îûÇþöì’ îÄî£*“þ £ëûÐ
34. (d) }„þöìîöì” ö›yÝþ 1028!Ýþ ›sþf îûöìëûöìŠéÐ
35. (b)
36. (a)
37. (c)
38. (c)
39. (c)
40. (d) ‹!›îû öÇþešþœ = 50 × 25 !›2 = 1250 !›2

„)þþ™!Ýþîû öÇþešþœ =
22

7
 × 14 × 14 !›2 = 616 !›2

„)þþ™ îyöì” ‹!›îû öÇþešþœ = (1250 – 616) !›2 = 634
!›2

‹!›îû vþzF‰þ“þy î,!kþ þ™yöìî
616 3.17

3.08
634


  !›

41. (b)
42. (c)
43. (c)
44. (a)

45. (c)
3 3 3

2 2 2

a b c 3abc

a b c ab bc ca

  
    

2 2 2

2 2 2

(a b c)(a b c ab bc ca)

a b c ab bc ca

      


    
= a + b + c

~öìÇþöìe– a = 2.5, b = 1.7, c= 5.8

 !˜öì’Åëû ¢îûœšþœ = 2.5 + 1.7 + 5.8 = 10

46. (b)
47. (b) !“þ!˜ ›yoyöì‹ xy£z̃  x›y˜Ä xyöì̈ yœöì̃  ë%_« !Šéöìœ˜Ð
48. (b) 8000 Ýþy„þyîû ö›yÝþ îy!¡ìÅ„þ ¢%” 5600 Ýþy„þy

îy!¡ìÅ„þ ¢%öì”îû £yîû
5600 100

7%
80000 1





6% £yöìîû ‹›y Ýþy„þy ­ 8% £yöìîû ‹›y Ýþy„þy = 1 : 1

²Ìí› ¢%öì”îû £yîû 6% !m“þ#ëû ¢%öì”îû £yîû 8%

›•Ä ¢%öì”îû £yîû 7%

1% 1%

8% £yöìîû Ýþy„þy ‹›y îûyöì…˜
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xÄy!‰þ¦þy¢Å
1

80000 40000
1 1

  


 Ýþy„þy

49. (b)

50. (c) 1942 ¢yöìœ ~£z xyöì̈ yœ˜ ‡öìÝþ!ŠéœÐ
51. (b) I  9, H  8, G  7, 6  F, 5  E, 4 

D
52. (c) „þ!ÞÝþ„þ ö¢yvþy £œ ö¢y!vþëûy› £y£zvÈþ:y£zvþ (NaOH)
53. (b)
54. (d)
55. (b) !£›îyöì£îû Çþëû„þyöìëÅîû šþöìœ vþzêþ™§¬ x˜Äy˜Ä ¦)þ!›îû*þ™ £œéôôôé

„þ!îû– ~!îû!Ýþ– £˜Å îy !þ™îûy!›vþ ‰)þvþüy £z“þÄy!”Ð
56. (c)
57. (a)
58. (c)
59. (d)
60. (d)
61. (a)
62. (b) ~!Ýþ þ™y!œ ¦þy¡ìyëû öœ…yÐ
63. (d)
64. (d) þ™y!“þ“þ ‹öìœ ö„þyöì̃ y ‹#îy’% ç Çþ!“þ„þyîû„þ xyëû̃  íyöì„þ ˜y–

“þy£z ~£z ‹œ ¢îöì‰þöìëû !îÖkþÐ
65. (a)
66. (c)
67. (d) vþz¡Œ“þy öî!Ÿîû ‹˜Ä ~îû xþ™îû ˜y› íyöì›Åy!ßþ³þëûyîûÐ

68. (c) !˜öì’Åëû ¢›ëû
x 52 12 4

t
y x 65 52 60 5
    
 

 ‡ ù̂Ýþy = 48

!›!˜ÝþÐ
 48 !›!˜Ýþ þ™îû þ™%!œŸ ö‰þyîû!Ýþöì„þ •îûöì“þ þ™yîûöìîÐ

69. (a) £œyëû%• îû!‰þ“þ @ùÌsþi ­ îÊáþ’¢îÅßþº
70. (d) WADA ~îû þ™)’Å îû*þ™!Ýþ £œ World Anti Doping

AgencyÐ
71. (c) 1882 !…Ê. vþz£z!œëûy› £yrÝþyöìîûîû ö˜“,þöìc ~£z „þ!›Ÿ˜ †!àþ“þ

£ëûÐ
72. (b) †’þ™!îû¡ìöì” ‹y“þ#ëû þ™“þy„þy @ùÌ£’éôôô 1947éôé~îû 22 ‹%œy£z–

†’þ™!îû¡ìöì” ‹y“þ#ëû ¢‚†#“þ @ùÌ£’éôôô 1950éôé~îû 24 ‹y˜%ëûy!îû
73. (c) •!îû– ²Ìí› ˜œ!Ýþ x ‡ ù̂Ýþy ö…yœy íy„þöìîÐ

 x ‡ ù̂Ýþyëû ²Ìí› ˜œ!Ýþ ‹œþ™)’Å „þîûöìî
x

10
 x‚Ÿ

 (x – 2) ‡ ù̂Ýþyëû !m“þ#ëû ˜œ!Ýþ ‹œþ™)’Å „þîûöìî
x 2

8



x‚Ÿ

 (x – 3) ‡ ù̂Ýþyëû “,þ“þ#ëû ˜œ!Ýþ ‹œ …y!œ „þîûöìî
x 3

4



x‚Ÿ

x 3 x x 2
0

4 10 8

      
 

îy– 10x – 30 – (4x + 5x – 10) = 0
îy– x = 20
ö‰þïîyF‰þy!Ýþ …y!œ £öìî ¢„þyœ 6Ýþy + 20 ‡ ù̂Ýþy = þ™öìîûîû !”˜
ö¦þyîû 2öÝþyÐ

74. (d) îyëY›[þöìœîû “þyþ™ ë…˜ ¦)þþ™,öìÛþîû ¢›yhsþîûyöìœ Šé!vþüöìëû þ™öìvþü–
“þ…˜ “þyöì„þ xÄyvþöì¦þ„þŸy˜ îöìœÐ

75. (b)
76. (a)
77. (d) 49 = 72 þ™)’Åî†Å ¢‚…Äy– x˜Ä=!œ þ™)’Åî†Å ¢‚…Äy ˜ëûÐ
78. (c)
79. (d)
80. (a)
81. (c)
82. (a)
83. (c)
84. (b) Habeas-Corpus – î!¨ ²Ì“þÄÇþ#„þîû’– Mandamus –

xy›îûy xyöì”Ÿ „þ!îû– Prohibition – ”y!ëûcþ™yœöì̃  !îîû“þ
íy„%þ˜– Cortiorari – !îöìŸ¡ì¦þyöìî Kþy“þ £çëûy

85. (b)
86. (c)
87. (a)
88. (a) öîû!vþëûy˜ ö„þyöì’îû ~„þ„þÐ
89. (b) ~!Ýþ £œ ö¢˜y!î¦þy†Ð
90. (b)
91. (b) ‡˜öì„þîû ¢›@ùÌ“þöìœîû öÇþešþœ = 6 × îyý2 = 96 ö¢!›2

‡˜öì„þîû ~„þ!Ýþ îyýîû ÷”‡ÅÄ
96

6
 ö¢!› = 4 ö¢!›

‡˜öì„þîû xyëû“þ˜ = îyý3 = 43 ö¢!›3 = 64 ö¢!›3

92. (b) !“þ!˜ £zÝþy!œîû þ™ëÅÝþ„þ !Šéöìœ˜Ð
93. (a)
94. (b) îÄyöì„þœy£zÝþ öëï†!Ýþ íyöì›Åy²Õy!ÞÝþ„þÐ
95. (b) …y”yîû îy öîÝþ £œ ˜î#˜ þ™!œÐ
96. (c)

97. (c) îlßþ!Ýþîû e«ëû›)œÄ
100

100 %
 

 þ
þ!îe«ëû›)œÄ

Çþ!“

100
1600 2000

100 20
  


 Ýþy„þy

8% œy¦þ „þîûöì“þ £öìœ îlßþ!Ýþ !îe«ëû „þîûöì“þ £öìî

100 %

100


 

œy¦ þ þe«ë›û œ) Ä
100 8

2000
100


 

= 2160 Ýþy„þyëû
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98. (d) 2r = 2 × 2r  R = 2r
öÇþešþöìœîû î,!kþ

2 2 2 2

2 2

R r R r
100% 100%

r r

  
   


2 2

2

(2r) r
100% 300%

r


  

99. (b)
100. (c)
101. (b)
102. (d)
103. (d)
104. (c)
105. (d) ¢%›öì̃ îû ~„þy „þy‹!Ýþ „þîûöì“þ ¢›ëû œy†öìîéôôôé

15 24
40

24 15


 


!”˜

106. (a)
107. (c)
108. (c)
109. (c) (A) 24 – 8 × 4 ÷ 2 + 3  24 ÷ 8 + 4 – 2

× 3 = 1  14
(B) 24 + 8 ÷ 4 × 2 – 3  24 × 8 – 4 + 2

÷ 3
2

188
3

  42

(C) 24 + 8 – 4 × 2 ÷ 3  24 × 8 ÷ 4 + 2
– 3 = 47
(D) 24 – 8 ÷ 4 + 2 × 3  24 ÷ 8 – 4 × 2
+ 3 = –2  18

110. (b)
111. (d)

112. (a) K A V

V A K

E M OR Y RI S E

I S ER Y RE M O

113. (b) ö£¦þœ„þ ­ œ…˜vþz– „þÄyÁ™öìîœ ­ „þy˜þ™%îû– !˜„þœ¢˜ ­ !”!ÍÔ
114. (a) 1825 ¢yöìœ ~!Ýþ †!àþ“þ £ëûÐ
115. (b)
116. (c) n2(n2 – 1) = n(n + 1).n(n – 1)

n = 2 £öìœ 2(2 + 1).2(2 – 1) = 12, n = 3
n = 3 £öìœ 3(3 + 1).3(3 – 1) = 48
 n ~îû ›y˜ ëy£z ö£y„þ ˜y ö„þ˜ n2(n2 – 1) îûy!Ÿ!Ýþ 12
!”öìëû !î¦þy‹ÄÐ

117. (d)
118. (c)

119. (b) ¢%”éôéxy¢œ

2

t
10

R 2P 1 2000 1
100 100

 
      

   
 

öë…yöì̃  ¢%” x•Å îê¢îû xhsþîû †’˜y „þîûy £ëû

105 105
2000 22050

100 100


  


 Ýþy„þy

120. (c)
121. (d)
122. (c) „þyuþyœy =‹îûyöìÝþ xî!ßþi“þÐ
123. (c) 12 – 22 + 32 – 42 +....+112 – 122

= (1 + 2)(1 – 2) + (3 + 4)(3 – 4) + ...+ (11
+ 12) (11 – 12)
= 3 × (–1) + 7 × (–1) + 11 × (–1) + 15 × (–
1) + 19 × (–1) + 23 × (–1)
= – 78

124. (d)
125. (a) „þ‚öì@ùÌ¢ 292!Ýþ xy¢öì̃ îû ›öì•Ä 208!Ýþ þ™yëû– ›%¢!œ› !œ†

73!Ýþ þ™yëûÐ
126. (b) ¢%›öì˜îû ‹§Ã 28 ö¢öì²WzÁºîû 1999, 1999 ¢yöìœîû 15

xy†ÞÝþ !Šéœ ö¢y›îyîûÐ
ö›yÝþ !”˜ = 15 xy†ÞÝþ öíöì„þ 28 ö¢öì²WzÁºîû = 28 + 16
= 44 !”˜ = 6 ¢®y£ 2 !”˜
¢%›öì̃ îû ‹§Ã!”˜ = ö¢y›îyîû + 2 !”˜ = î%•îyîû

127. (b) 1870 ¢yöìœ £yçvþüyîû (WB) îy!œöì“þ ²Ìí› „þy†‹„þœ
†öìvþü çöìàþÐ

128. (d) 26 xöìQyîîû 1946éôé~ öëy†”y˜ „þöìîûÐ
129. (c) 6 × 7 = 42, 7 × 8 = 56, 8 × 9 = 72

 9 × 10 = 90
130. (b) ¢‚…Äy!Ýþ x £öìœ 2(3x + 7) = 68

 3x + 7 = 34  x = 9
131. (a)
132. (b) ~!Ýþ 1944 ¢yöìœ þ™yŸ £ëûÐ
133. (d)
134. (c)
135. (c) 1936 !…ÊÞÝþyöì· ²Ì!“þ!Ûþ“þ £ëûÐ
136. (d)
137. (b)
138. (b) ö†yþ™yöìœîû !þ™“þyîû ~„þ›ye þ™%e ö¢ !˜öì‹Ð

 ›%„%þöìœîû !þ™“þy £œ ö†yþ™yœÐ
139. (a)
140. (b) îû*þ™ ö†yßþºy›#îû xþ™îû ~„þ!Ýþ î£z £œ œ!œ“þ›y•îÐ
141. (d)
142. (b)
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143. (b) „þyîû’ ~îû šþöìœ ‹öìœîû ›öì•Ä Ca, Mg ²Ì¦,þ!“þ œî’ xþ™¢yîû’
„þîûy £ëûÐ

144. (a) ˜î› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y„þyöìœ 2000 ¢yöìœ “þê„þyœ#˜
²Ì•y˜›sþf# xÝþœ!î£yîû# îy‹öìþ™ëû#îû xy›öìœ PMGSY ‰þyœ%
£ëûÐ

145. (a) 1611 !…Ê. †öìvþü çöìàþÐ
146. (b)
147. (d)
148. (c)
149. (b) ¢›ëû„þyœ 1916-1921 !…Ê.Ð
150. (b) „þyàþyöì›y†“þ öî„þyîûc éôé xíÅ÷ì̃ !“þ„þ „þyàþyöì›y†“þ xþ™)’Å“þyîû

„þyîûöì’ ¢,ÜT öî„þyîûc– ›îûÖ!› öî„þyîûcéôé „,þ!¡ìöìÇþöìe vþzþ™ë%_«
ö¢öì‰þîû x¦þyöìîîû „þyîûöì’ öî„þyîûc ~î‚ ²ÌFŠé§¬ öî„þyîûc éôé
‹˜¢‚…Äy î,!kþîû ‰þyöìþ™ @ùÌy›#’ öÇþöìe vþzm,_ ×öì›îû x!hßþc
œÇþ „þîûy ëyëûÐ

151. (a) î,£_› ö„þy’ x°, Ç%þo“þ› ö„þy’ y° £öìœ
x + y = 180° ....(i) x – y = 30° ....(ii)
(i) + (ii)  2x = 210° ? x = 105°
 y = 180° – 105° = 75°
 x : y = 105 : 75 = 7 : 5
 y : x = 5 : 7

152. (a) „þ’ÅyÝþöì„þîû !‰þ„þ›y†yœ%îû ö‹œyëû îûöìëûöìŠéÐ
153. (c)
154. (d)
155. (a)
156. (a) ö›îû&“%þD ­ ²Ìîõþ !‰þhsþy›!˜– þ™p=® ­ ˜î¢£¢yBþ ‰þ!îû“þ
157. (c)
158. (b)
159. (d) ²Ìöì”öìŸîû Ÿy¢˜„þ“Åþyöì„þ ²Ìyöì”!Ÿ„þ îœy £“þÐ
160. (b)
161. (a)
162. (a) ~!Ýþ ç!vþüŸyöì“þ xî!ßþi“þÐ
163. (a)
164. (b)

165. (a) î#îû¦)þöì› xî!ßþi“þ– î,!ÜTþ™yöì“þîû þ™!îû›y’ 90 ö¢!›Ð
166. (d)

167. (d) •!îû A ç B ~îû xyëû ëíye«öì› 3x Ýþy„þy ç 2x Ýþy„þy ~î‚
îÄëû ëíye«öì› 5y Ýþy„þy ç 3y Ýþy„þyÐ
Ÿ“Åþy˜%¢yöìîû 3x – 5y = 4000  9x – 15y = 12000
2x – 3y = 4000  10x – 15y = 20000
S¢›#„þîû’mëû !îöìëûy† „þöìîûV –x = –8000
 2x = 16000
 B ~îû xyëû 16000 Ýþy„þyÐ

168. (d) îûy‹öì„þyöì¡ì ‡yÝþ!“þ ö›Ýþyöì“þ ö”öìŸîû îy‹yîû öíöì„þ ¢îû„þyîû
öî!Ÿ }’ „þîûöìœ ¢%öì”îû £yîû öîöìvþü ëyëû– ~îû šþöìœ !ŸÒ
¢‚ßþiy=!œç œ!@À „þîûöì“þ x¢Á¿“þ £ëûÐ

169. (b) xy”yîû @ùÌ!sþi„þy[þ– G%þ›öì„þyœ“þyîû „þy[þ xy„þ¡ìÅ– šþ!’›˜¢yîû
þ™’Å„þy[þ– xyœ%îû ßþ³þ#“þ„þ¨– „¤þyÝþy ö›öì£!”îû Ÿy…y„þ ù̂Ýþ„þ £z“þÄy!”
þ™!îûî!“Åþ“þ „þy[þ ~î‚ ~=!œ ²Ìöì“þÄ„þ!Ýþîû ¢›¢‚ßþi xDÐ

170. (b) ¢Á™y”„þ ­ œyœy £îû”ëûyœ– ¢£ ¢¦þyþ™!“þ ­ ›£Á¿” îûî„þ“þvþzÍÔy
171. (b)
172. (b)
173. (c) ~£z !îöìoy£ ö„þîûyœy vþzþ™„)þöìœ ¢‚‡!Ýþ“þ £ëûÐ
174. (a) !˜öì’Åëû …îû‰þ = îûyhßþyîû öÇþešþœ × 22.25

={14 × 10 – (14 – 1.5 × 2)(10 – 1.5 × 2)}
× 22.25 Ýþy„þy
={140 – 11 × 7} × 22.25 Ýþy„þy
= 1401.75 Ýþy„þy

175. (b) “%þîûöìßþñ xî!ßþi“þÐ
176. (a) !þ™öìÝþîû ¦þyîû“þ Ÿy¢˜ xy£z̃  ­ 1784 !…Ê. 1 ‹y˜%ëûy!îû
177. (b)
178. (c)
179. (d) A : B = 1 : 2 = 3 : 6

B : C = 3 : 4 = 6 : 8
C : D = 6 : 9 = 8 : 12
D : E = 12 : 16
 A : B : C : D : E = 3 : 6 : 8 : 12 : 16

180. (c)
181. (d) ¢Á±!“þ ²Ìëûy“þ !˜›Åœ „þîû ~„þ‹˜ ›!£œy ¦þ!œîœ e«#vþüy!î”

!Šéöìœ˜Ð ¦þyîûöì“þîû ²Ìy_«˜ !ßþ±rÝþyîû ²Ìëûy“þ !›œ…y !¢‚ ~îû ßþf#
!Šéöìœ˜ !“þ!˜Ð

182. (b) öîỄ  !Ýþvþz›yîû ¢Á™öì„Åþ ¢öì‰þ“þ˜“þy †öìvþü ö“þyœyîû vþzöìjöìŸÄ
²Ì!“þîŠéîû 8 ‹%̃  ~£z !”î¢ þ™y!œ“þ £öìëû íyöì„þÐ

183. (d) ²Ì!“þ îŠéîû 15 ‹%̃  !îÙ»‹%öìvþü þ™y!œ“þ £ëû çëûyÓÅþ ~œvþyîû
xÄyî%vþz¢ xÄyçëûyîûöì̃ ¢ övþÐ îëûßþñ îÄ!_«îûy öë ¢›hßþ Ÿyîû#!îû„þ–
›y˜!¢„þ !œD‹!˜“þ– xíÅ÷ì̃ !“þ„þ ~î‚ ¢y›y!‹„þ !˜ëÅy“þöì̃ îû
¢Á¿%…#˜ £˜ “þyîû !î¡ìöìëû !îÙ»‹%öìvþü ‹˜¢öì‰þ“þ˜“þy †öìvþü “%þœöì“þ
~£z !”î¢ þ™yœ˜ „þîûy £öìëû íyöì„þÐ ~£z !”îöì¢îû ~îŠéöìîûîû
!í›éôô Access to JusticeÐ

184. (c) ¢Á±!“þ xöìœy„þ „%þ›yîû !eþ™%îûyîû ›%…Ä ¢!‰þî !£¢yöìî !˜ë%_«
£öìœ˜Ð

185. (b) x¢› îûy£zöìšþöìœîû ˜“%þ˜ !vþ!‹ !£¢yöìî !˜ë%_« £öìœ˜ ²Ì”#þ™
‰þ¨˜ ˜yëûyîûÐ

186. (b) xy£z‹Äy„þ ö£vþ‚ £z‹îûyöìëûöìœîû ˜“%þ˜ ö²Ì!¢öìvþrÝþ !£¢yöìî !˜ë%_«
£öìœ˜Ð !“þ!˜ £z‹îûyöìëûöìœîû 11“þ› ö²Ì!¢öìvþrÝþÐ

187. (c) ‹y“þ#ëû ›y˜îy!•„þyîû „þ!›Ÿöì̃ îû ˜“%þ˜ ö‰þëûyîû›Äy˜ !£¢yöìî
¢%!²Ì› ö„þyöìÝÅþîû ²Ìy_«˜ !î‰þyîûþ™!“þ xîû&’ „%þ›yîû !›×öì„þ !˜ë%_«
„þîûy £œÐ
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188. (b) ›%…Ä›sþf# ››“þy îöì̈ Äyþ™y•Äyöìëûîû ²Ì•y˜ vþzþ™öì”ÜTy !£¢yöìî !˜ë%_«
„þîûy £œ þ™!Øþ›îöìDîû ²Ìy_«˜ ›%…Ä¢!‰þîþ xyœyþ™˜
îöì̈ Äyþ™y•Äyëûöì„þÐ

189. (c) !Ýþ !î ˜öìîûw˜ „þ˜öìšþvþyöìîûŸ˜ xšþ £z!uþëûy˜ £zuþy!ßþTÉîû ˜“%þ˜
ö²Ì!¢öìvþrÝþ !£¢yöìî !˜ë%_« £öìœ˜Ð

190. (b) 31“þ› ˜ÄyöìÝþy ¢y!›Ýþ öîœ!‹ëûyöì›îû îÊyöì¢œöì¢ x˜%!Ûþ“þ £œÐ
191. (c) ‹%̃  ›yöì¢ 2021 ¢yöìœîû !îÊ„þöì¢îû !îöì”Ÿ ›sþf#öì”îû ÷îàþ„þ

xyöìëûy‹˜ „þöìîû!Šéœ ¦þyîû“þÐ
192. (b) 2021 ¢yöìœîû World University Ranking x˜%ëyëû#

¦þyîûöì“þîû Ÿ#¡ìÅ !ŸÇþy ²Ì!“þÛþy˜!Ýþ £œ xy£zxy£z~› xy£öì›”yîy”Ð
193. (a) £z„þ˜!›„þ £zöìrÝþ!ìœöì‹rÝþ £zvþz!˜Ýþ „þ“,Åþ„þ ²Ì„þy!Ÿ“þ 2021 ¢yöìœîû

¢öìîÅyF‰þ î¢îy¢öìëy†Ä Ÿ£îû £œé !˜vþz!‹œÄyöìuþîû x„þœÄyuþÐ
194. (c) Coursera „þ“,Åþ„þ ²Ì„þy!Ÿ“þ 'Global Skills Report-

2021' x˜%ëyëû# ¦þyîûöì“þîû ßþiy˜ 67Ð

195. (b) Anemia Mukt Bharat Index 2020-21 x˜%ëyëû# ²Ìí›
ßþiyöì̃  îûöìëûöìŠé ›•Ä²Ìöì”ŸÐ

196. (c) ¦þyîû“þ#ëû ö˜ïîy!£˜#öì„þ !“þ˜!Ýþ MH-60 öîûy!›ç ö£!œ„þ²Wzyîû
¢îûîîûy£ „þîûœ ›y!„Åþ˜ ë%_«îûyÜTÉÐ

197. (a) £z‹îûyöìëûöìœîû ˜“%þ˜ ²Ì•y˜›sþf# !£¢yöìî !˜ë%_« £öìœ˜ ˜yšþÝþy!œ
öîöì̃ ÝþÐ

198. (b) 2021 ¢yöìœ x˜%!Ûþ“þ £çëûy ²Ìí› öîœöì@ùÌvþ çöìþ™˜ !¢Dœöì¢
þ™%îû&¡ì !î¦þyöì† ‰þÄy!Á™ëû̃  £öìœ˜ ö˜yîy„þ ö‹yöì„þy!î‰þÐ

199. (d) 2021 ¢yöìœîû çëûyÓÅþ öÝþÞÝþ ‰þÄy!Á™ëû˜!Ÿþ™ !‹“þœ
!˜vþz!‹œÄyuþÐ šþy£z̃ yöìœ “þyîûy ¦þyîû“þöì„þ 8 vþz£zöì„þöìÝþ þ™îûyhßþ
„þöìîûÐ

200. (a) 2021 ¢yöìœîû öšÊþMþé @ùÌy !²Ì: ‹ëûœy¦þ „þîûöìœ˜ ›Äy:
¦þy¢Å!ÞÝþöìþ™˜Ð


